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1. India signed the first ever ‘Cultural Properly Agreement’ to prevent and curb illicit trafficking of
antiquities from India, in 2024, with w]nch country ? '

(1) usa | ' "22) England

(3) Portugal ](4) Japan
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2.  Consider the following statements about the new statue of ‘Lady Justice” in India :

(@)  She is blind folded.
(b) The statue was unveiled by ]ushce Sanjiv Khanna, the Chief Justice of India.

()  She carries the Indian Constitution in one hand.
:

Choose the correct option from the codes given below :
(1) Only (b) is correct. "7(2) Only (b) and (c) are correct.

=

(3) Only (c) is correct. ' i::__.i (4) Only (a) is correct.
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3. W}uch country will host the 2026 Asxan Games ?
(1) China (2) South Ko_req (3) Japan  (4) India
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4. Which of the following states recorded a retail inflation rate higher than RBI's tolerance thre

of 6%, in the Financial Year 2024 (FY24) ?

(1)  Manipur (2) Maharashtra (3) Kerala (4) ]harkhanct =

Pt 5 & forer v fordrr ad 2024 3 e TR A v F 9 1 6% F HET
FTHMI (Tl Qe g a2 .
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December 2023 ?

(1) Code of Criminal Procedure
(2) Indian Evidence Act

(3) Unlawful Activities (Prevenhon) Act "
(4) Indian Penal Code '

R, 2025 3 1 sfbrai i oot (<ve) el g Frafe 8 3 st
fea T 2

(1) << ufran dfear
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5. Which of the following has not been r%@ced by the three criminal codes enacted in India
e 4 Ul

: E=F d
6. hich among the followmg orgamsatmns was awarded the Subhash Chandra Bose AaP a
Prabhandhan Puraskar, 2024, in the Institutional category ? - '
(1) Indian National Centre for Ocean Informatlon Services (INOIS)

(2) National Disaster Response Force — ~
(3) Rapid Action Force i
(4) 60 Parachute Field Hospital, Uttar Praclesh
Fr=fafad o @ forg 91ed =1 Fwrm anﬁqgwaﬁamwmw 2024 F Frmfd feham T ?
(1) WRAE T HRETR e 36 5% (37 T 2 7% TH)
(2) UL A H=A I
(3) 7w T (e TRA FH)
My 60 TRIe free wiedied, SW AW

7. The Nobel Prize in Physics 2024 that recognized inventions in machine learning was awarded to
which of the following ? = g
(a) John Hopfield (b) Geoffrey Hinton (c) Victor Ambros

Choose the correct option from the codes given below :

(1) Only () (2) Only (a) and (b) (3) Only (b) and (c) (4) Only (a)

o 2024 3 e sfifT & %ﬁﬁﬁmaﬁwﬁﬁawﬁﬂﬁmﬂﬂ aferT 3 & WWW
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10.

Which of ; _
Leagye 202:2{;31.;0;““8 has been declared as the official broadcast partner for Hockey India

(1) Zee Sports

G (2)  Doordarshan (3) Sony Six (4) ESPN

et 2024-2025 3 fere, Freaffiam 4 4 fod onferifn () SErol SRR S

i \' b
. r

What does GPT stand for in Chat GPT 24 7 |
(1) Generative Powered Transition I

(2 Generative Pre-Trained Transformer

(3)  Generative Process Transmission

(4) Generative Para-human Transmitter

SR D A Y o i §2
1) - SFYfeq wre ishom [~
) e -3 g
(@) rifea v i
4 Sl - wieta

Which of the followmg statements is correct about the UN Climate Change Confe:ence 2024 ?

(1) COP 29 was held in Azerbaijan.

(2) COP 29 was hosted by the city of Ganja.

(3) COP 29 adopted the climate goal of achjeving net - zero emissions by 2040.

(4) COP 29 was held in the month of December,

a4 2024 H a@ﬁﬁuﬁwmqﬁaﬁqaﬁm%aﬁﬁﬁwﬁrﬁaﬁﬁﬁﬁqmwuﬁ%?
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1. Who among the followine ; . _
l year 2024 ? OWIng is not a winner of the Major Dhyan Chand Khel Ratna Award in the

(1) Salima Tete

(3) Praveen Kumar Ei; Earma;iriet Singh

Frefefed # A 5 @) Manu Bhaker

e T 2024 9 e <o Seen i fen 67
(2) : T ffe
R @ - v '

. Which of - : =i
: created starglne ;Ollowmg option reflects -the correct order in which the states were
d g from the state created last to the first ?
(1) Meghalaya — Nagaland — Gujarat o

.(2) Nagaland — Gujarat Meghalaya
(3) Nagaland — Mizoram —s Gujarat
(4) Meghalaya — Gujarat — Mizoram

frfafead 9 & frw forey 3 Heifug Wi & : 03 7T g q) H
T E? T T 5 (e H o T § YO F

(B TS — TR — Hrera ‘—ﬂ~= |
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3. Elections were held in the USA in the year 2024 for which of the following ?
(a) President 1Ll

(b) Senate
(c) House of Representatives

iy
u 1
qul

Wi

Choose the correct answer from the codes given below :

(1) Only (a) and (b) (2) Only (a) and ()
@) (@) (b)and (c) (4) Only (a)
4 2024 F e T ST § Frefarad #§ | fo6a / fm o % for g gu?
(a) Al -
® e
(c) wreH it Rosifesd (afafafe @) s
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Who was elected as the Pre51dent of Sri Lanka in the Presidential election held in
September 2024 ?

(1) Sajith Premadasa (2) [Ranil Wickremesinghe

(3) Gotabaya Rajapaksa 4) Anura Kumara Dissanayake

famer, 2024 % ﬁﬁmnma;qaaqmgqﬁamﬁﬁmﬁlﬁaﬂﬁﬁaﬁﬂﬁaﬁm‘rﬁam’
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L
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Among the following States and Union Temtones which one has the lowest number of Protected
Monuments and Protected Areas in the country, until December 2024 7

(1) Puducherry '(2) . Daman and Diu

(3) Mizoram (4) Arunachal Pradesh
ﬁmﬁﬁaanﬁﬁwﬁm@a‘fﬁﬂ%mxﬁqmﬁaﬁm2024#??@41%1%341141??:21%5
A FUE IR SR wfErd & foemm €2

1) TN
(3) Taeire

d=

Which of the following was among the fweT
Classical Language in India, in 2024 ?

(1) Gujarati (2) Marathi : 3); Maithili (4) Urdu
T 2024 § WTEE WO 1 €S I F S T Wi # § T 9 AiEfafad T ¥ IR R T 2
(1) T oy (@) Al @ = |

guages approved to be conferred the status of

What is' BHASHINI, launched by the Government of India in 2022 ?

(1) Technology supported language translation platform

(2) Al designed Indian Knowledge System currlculum for Higher Education Institutions
(3). Scheme for National ICT Award for Smart School

(4) Large Language Model for digital codmg

ﬂmawgmaﬁzozzngtwﬁa wifiyoft’ am%?

2 ﬁwmﬁ%ﬁﬁﬁ?ﬁﬁg@maﬁa&qﬁmaﬁmm@w
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Consider. the following statements
(A) The Southern most ran

18.

ge of the Himala as is kn
g T o y own as Himadri.
(B) Himadri is also known as the Inner mealayas

Choose the correct statement from the codes given below :
(1) Only (B) is correct.

(3) Neither (A) nor (B) is correct.
frefafed e R i . Ce
(A) %wﬁmﬁwarmaﬁ%h%nﬁaﬁﬁwﬁwm%l

(B) Wﬁmﬁm%mﬁﬁww%n

i T T 2 & | Wt e g -

(1~ e (B) W R 2) (A) iR (B) 2 w& ¥
(@) T (A) T (B) T T () R (A) TR

(2) Bqtl} (A) and (B) are correct.
4) OIﬂY'(A) is correct.

19. After four decades of conservation effort, the Dudhwa National Park in 2024, released which
animal named Raghu, into open forest ?

(1) . One-horned Rhinoceros (2) Tundra Reindeer

(3) Red Panda (4) Raccoon

iﬁwmmmmw%WQWMWﬁaﬁ20241?:13%%&%@@3“‘*

1) whtmwiE . @ mEw
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20. What is the theme of the International Day of Persons with Disabilities which was observed on
December 3, 2024 ?

(1) “Inclusion and empowerment of person with disabilities”

(2) Amphfymg the leadershlp of persons with dxsablht:les for an inclusive and sustamable ful'ure
(3) “Inclusive and sustainable future for persons w1th dlSabllll‘leS

(4) “Celebrating leadership of persons with dlsabﬂmes

3 @R, 2024ﬁmwmm@ﬂﬁmmﬁwmmﬁfmﬁrﬁaﬁﬁw%v
(1) 4 RS T TR SIR S G
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Where was the first edition of the Kho Kho World Cup 2025 held ?
(3) Tokyo (4) Kathmandu

(1) Colambo (2) New Delhi
@l Gl fava Y 2025 3 e T 1 S el 1R T2
(1) e ‘;;)/ = feeel @) T (@) T

Consider the following statements
(A) Yellow Revolution in India is assocmted w1th the production of edible oil seeds.

(B) Golden Revolution in India is assocnated with the production of honey and horticulture,

Choose the correct answer from the codes gIVEI'l below :

(1) Only (B) is correct. (2) “Both (A) and (B) are correct.
(3) Neither (A) nor (B) is correct.  (4) Only (A) is correct.
frfafen wu | feEr Fif |

(A) WRA i Y shifd @re foered & S § gefud g1

(B) . ww’twﬁhmﬁrmaﬂtmwﬁsmﬁmﬁa%l

e fe U Fe § § W& sW g

(1) e (B) WEl 21

(3) T (A) T (B) T T

As per the latest figures available upto March 2024, which sector among the following, has t
lowest number of active companies ?

(1) Insurance (2) Construction (3) Trading (4) Manufac turing
AT, 2024 T % ST el % STER Frferfan A @ forg 9§ FRRa SR 9t wen g o S
(1) i é= (2) wfmimd (3) =R () & (a) P

Which of the following is an ICT uutlahve of the Ministry of Education for E-governance fc
Universities ? :

() SAMARTH  (2) FOSSEE - -i_(s) Shodhganga  (4) VIDWAN

W@auﬁwﬁﬁﬁm%mﬁﬁéw%ﬁﬂmmwmmaﬂtwm
(31 €t 31) M TeA & ?

D) wud (2) R '(3) TNERTM (4) fagm
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25. Which novel was aw . )

language ? arded the Sahitya Akademi Award, 2024 in the category of English
(1) Thave become the Tide

. 2)  Spirit Night
(3) The Far Field (2)  Spirit Nights

4)  Everything the Ligh h
mﬁ%m ( ry g the Light touches
o S'HIE‘HﬁWWﬁMﬁaﬁmmwuﬂ%mwﬁwﬂmﬁw’

(1) 3T & foahm T os W
SO Ob @ﬂﬁm g ?«nse CAE

26. Consider the followmg statements :

A s
EB)) E:ma:'f;al Day are designated by the UN General Assembly.
posal for designation of Intemahona] Day can be made only by the permanent members

of the UN Security Council. - :
Choose the correct answer from the codes gwen below :
1) On}y (B) is correct. (2) Both (A) and (B) are correct.
(3) Neither (A) nor (B) is correct. (4) Only (A) is correct.
Trefafad Feml W foer s

(A) ST foad Sge T werHT g Tatrfed forg s €|
(B) memaﬁmmmmmmmmammmmw

3 fom e 5 H W IR G :
(1) e (B) Wl €| @1 (A)eﬂ'((B)?i’FﬁH'&pf%I
(@) T (A)T(B) FAEI @ W(Ama%l

1dents of various countries and the year in whlch they

27. Consider the following pairs of the Pres
f Guest and identify the incorrect match :

graced the Republic Day in India as Chie

Chief Guest for the Republic Day in India : Year ; i
- (1) President Emmanuel Macron 2024 o
(2) President Abdel al Sisi ~2023
(3) President Cyril Ramaphosa 2022
2025

(4) President Prabowo Subianto

ﬁaﬁ%mmg@aﬁfﬁ%wﬁmﬁfﬂﬂ%@%maﬁhﬁmaﬁ%

9Rd o TOTGA
ﬁmﬁ%ﬁgﬁmﬁaﬂﬁmaﬂ?wwﬁﬁ@mﬁm
m%wﬁaﬂﬁmmg@mﬁfa s ad
(1) el S HE 2024
ﬂqﬁ o o fodt | 2023
ezt fafter T (L3 2022
) gl e g 2025
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28. Which of the followmg pairs of leaders and the pﬂllhcal p

mcorreclly matched ?

(1)
(2)
(3)
(4)

Acharya Narayan Dev

AXK. Gopalan

Rafi Ahmed Kidwai

B.R. Ambedkar

Praja Socialist Party

Republican Party

 Congress

‘ Independent Labour Party
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29.

30.

1l%lrﬁlil

- [

(3)
(4)

An Al model developed in 2020 solved a: Sd;'ear old problem - Predicting proteins complex structure

- TR eTEge

BT

in humans. What is the model called ? ?-4-

(2) HumanOSO / (3) ProFunction 20 (4) Amino Acido 1

(1)

aﬁzozoﬁquaﬁm%ﬁmﬁwﬁmﬁaﬁamwmﬂmwﬁw&ﬂ 50 o

Alpha Fold 2

ﬁmmmwﬁmwwawmww%?

(1) SFCH HITS 2 (yﬁq’f@w

(3)

W-THRM 20

@)

AT TfEEr 1

Elon Musk left ‘Open AI’ and created which of the foﬂowiﬁg Al companies ?

] B e

(1)

Meta

915 fpar?

(1)

HeT

(2 xAL/

\J}J/‘xAI

(3)

®)

10

Signal

o

(4)

4)

Chat GPT

<2 St d@t &

arties they were associated wit, 1
’

mw%ﬁwﬁfmﬁﬁmaﬁ%ﬁﬁﬁm@mﬁ(qaﬁ)mww 3T T 31" 1 Bret &
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31. Find the mussing t-erm in the following series : w8 % bﬁ‘
frfafEd S ¥ gw S a6 w5y v A2 7
0,2,4,14,40,122, __ 2 1004 N g 3
L
(1) 202 (2) 268 (3) 368 (4) 364 4 W L
. . : i L ?”t ?
32. Find a figure from the figures given in the op tions that can be formed by joining the 4 pieces given

in the figure ‘X',
e T ferehed F & oo forerea w1 = ¢ S fop faw T fom X & R GRSl 1 SERL A D

Y 7] -
b w2

figure ‘X’ / =X’ {Y)
1 \2 (3) (4) g
33. How many rectangles are there in the following figure ?
i fer e ot & ot o1rerd €2
. y i b R
1 * i o .
e A, 15
i 3 W= R N ‘
@L%ff ) _
o = (2) 20 (3)-. 15 . @) 16
i F .'._{'Ll I
34. Three of the four pairs of words given below are alike in a certain way and thus form a group.
Which is the one that does not belong to the group ? ' '. s

(1) Iron: Hard (2) Smooth : Marble (

(3) Dough : Soft (4) Ice-cube : Cold
Wﬁ%m@ﬁﬁﬂﬁwﬁﬁﬁﬁ@%ﬁ@m@%ﬁ%lﬁm

ﬁﬁﬁﬁ—m@wwﬁdﬁfﬂaﬂﬁ%? Y
s el : FoR ) faHT : R
(3) rg ;e (4) o B R : B
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is the daughter of ‘R’ who is the Moth,

If ‘T’ is the father of ‘P’. ‘Q’ is the daughter of ‘P’. ‘S’
19.

> of ‘Q’ . Then how is ‘T related to ‘S’ ?

'“3) Grandfather (4 Brother

(1) Father () Uncle PR
AT, P QP TS, R B R, T, 4
et &2 L LN :

® o fm gy ey W

O on I and II. Assuming the

@ statement to be true, decide which of the Courses of Action most logically follow(s), for pursuing 7

. Statement : The manufacturing industries in a city are facing acute shortage of power.
Courses of Action : I Government should shut down manufacturing industries to save power.

1 Government should take steps to improve the power supply to solve the
power crisis.

(1) Ifonly I follows. (2. If neither I nor II follows,

(3)  If both I and II follow. (4) - If only I follows.

T 0 35 TR et 1SR 5o 1 e g, ot e s i 6 e

e &7 9 9y §/82 | 8N _

e e o S i S e v < L

FIA : 1 Forreh 3t a0 35 fore e 1 Fron i o vt 33 v |
L ST et 7t et 1 2 3 o, et o oo o gy ot v

g £ |
W FEn e (@ ANISRAR MY |
(3) :?:.’fffilaﬁ'{lléﬂﬁl | 4) wIAIdY i 7

t0.

37. If the two signs ‘+’ and ‘= “are interchan_ggd, which of the'following eqti'ations will be correct ?
wﬁﬁﬁ%‘fwaﬁtwafraamﬁaaaﬁmiﬁaﬁﬁwﬁﬁaaﬁﬁaﬂqmmuﬁﬁm?

(1) 4x12+36+3=58 (7 28+14+2x6=14 VX104 23
. v 18 z¢ 43

(3) 16+4+4x6=22 (4)~16+8+4x6=26 23 1Hd
' b Lt

38. ,In a certain code I?nguage, ‘BIHAR’ is written as ‘48596', ‘CANADA’ is written as ‘397929" and
GO’ is written as ‘10", then how can “CHANDIGARH’ be written in the same language ?
W e WA 'BIHAR' 1 °48596' foral ST 2, “CANADA” = '397929" 3R ‘GO’ =t 10" ferean Tt ¥
Fhaa"twn'CHANDIGARH'aﬁ%@f%@Tm? '

1) 3597281965 (2) 3597821965  (3) 3597289165 (4) 3597289156
wu / :
o r'swr“ﬁ‘ﬁa Clye 4y 783718 § 945 ST1/K
18y Lo, 241y 48 ¢
Ly

o =1

24 \ |
)’)““' VX1 at16 - ’JW,(T&@' ¢ o
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39, Astatementshowing relationship between different elements is given followed by two conclusions

I and II. Assuming the statement to be true, decide which of the conclusions is/are definitely true.
Statement:B>R > A = M<F<g ;

Conclusions : 1 B>M vy
II S=A oy

i
¥

(1) grl..ly CUI‘ICIusmr.l ITis true. \_@'{_ Both conclusions I and II are true.
(3) either conclusion I nor 11 is true.. - (4), Only conclusion I is true.

ferfir= Rt <6 <l WelYl < et Uk s fe T i v A < Frepd 1 @i e T 1 7 AR

fer fea TN er W, o favta i e i /@ frerd fifiem e mowa €/ €2
ST : B>R>A=M<F=<S |

ferd : I B>M
I S=A )
(1) <o Frerd 11w € 2) <Hi Frend 1 st )

@) T R LT & 119 ) (4) et Frepd 19§

10. Find the missing term in the fdllowing letter sieries -

AZY, BXW, CVU, DTS, __2 —, FPO.
(1 EQR (2) EPS “(3)- ESP (4) ERQ
1. If$ means +, @ means X, # means — and*Laneans +, then what is the value of :
5@20%4% 6#30 = sy 20+ U+ 6 30
Az g FAdE +, @F T x, #FAf T - ARy I AT + 15; 2l
5@20%4$ 64# 30 H FH T HISIC :
(1) 40 (3 4 @) 25 @ 1

- . i -,
42. In a certain code language ‘FLOWER’ is coded as “HJRTIN’, and ‘PLANTS’ is coded as ‘RJDKXC’,
then what will be the code of ‘GARDEN’ in the same language ?

o) T T W H, 'FLOWER' 1 2 HJRTIN%' 3R “PLANTS' ¥l %2 ‘RJDKXO’ € 91 g&ft wren §

PR B iy

N/

(1) 18 \—@( 16 3) 22 @) 20
o
mE 13 ST1/K

‘GARDEN'’ &1 % &1 &l 2 N
(1) IYUGH @ twAy () YA @) IYUAIR

43. How many triangles are there in the followil{g'if_:igure ? 0 &
9 e o feorr & faram BT €2 F L R
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In the following series, some of the letters are missing which are given in that order as one ofy
alternatives. Choose the correct alternatives :

ﬁﬁwmﬁ@amw%ﬁﬁmmﬁmﬁmmﬁlﬁﬁmmwﬁ:

il b L B
pqrs Eqr__qu,_rs__pq.rs.
(1) pqgst — @ sqpr .L(S)/srqp 4) rqps

A statement is followed by two Conclusions I and II. Consider the statement and the follows,
conclusions and decide which of the conclusions follow(s) from the statement ?
Statement : Unemployment is one of the major reason for the poverty of any country,

Conclusions I: In a poor country all the people are unemployed.
II: Itis required to Create.employment opportunities to reduce poverty.
(1) - Only conclusion II follows.
(2)  Neither conclusion I nor II follows, -
(3) Both conclusion I and II follow.
(4)  Only conclusion I follows.

@w%ma‘fﬁmlafnnﬁuq%nwsihﬁqwﬁwﬁfwﬁwﬁﬁqﬁnﬁﬁqﬁhﬁ
P WA Frerd For  Frver &/ feen £2
T : %ahﬁ%wﬁﬂﬂ‘cﬁ%q@aﬂwﬁﬁ@ﬁﬁwnﬁ@%y
frere 1 . ﬂﬂa%mﬁmﬁﬁnéﬁﬁm‘a‘r&%r
I : Waﬁmm%mﬂw%mﬁﬁhwaﬂaﬂm%:.

AT T Frem 11 e 8 F )

) ?a’rﬁasrha?mﬁuﬁamm%r?ﬂé
(3) . <l fremef 1 afR 11 Frrepery ) CI) +. L ; .
(4) " haa Frend 1 e 3 —. | |

¢ § 8

Three statements are given which are followed by three Conclusions L II and III. Assuming th
given statements to be true, even if they.seem to be at variance from the commonly known facts
decide which of the given conclusions logically follow(s) from the given statements. '
Statements :  All flowers are birds, No treo is bird. Some fruits are trees.

IIT  Some flowers are trees,

-, Conclusions : I Some birds are fruits, " s |
; sk I No fruit is flower, X : , a'g'ﬁ :

5§31

EﬁEI
=%
=%

e 'ﬁaﬂm'tr&ﬂ%,iﬁ%vaﬁz_ﬁﬁlwmw%i

(1)  Only conclusion I and II follow, . (2) No conclusion follows,
(3)  All conclusions I, II and III follow. “/(4)  Only conclusion I follows.

ferd : 1 3o walt, B € e
I R 7, g /&K oy
Il F8 %, ga§1 Y%

(1) o Fremd iR o frerd 1 <) () HE st Frewd T firsrern 21
(@) wft FreRd 1, 1 iR frerd &1 - \ (& e Forerd 1 Freeran 2

14 ST1/K
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b .
47. Choose the correct option from the given alternatives that will complete the series :
ﬁéﬁqwﬁwifﬁmﬁwaﬁgﬁm S sj@en w1 o |
H. @9 -Alo ™
: < > <
' Q|0 O O
O Qa O o O
b > @) =(3) @)
o O ' 6. O
Fq: 48. Select the option that is related to the third term in the same way as the second term is related to
i the first term. g f
|
} HHlqdnv*-lﬁv"lﬂ%ﬁﬁmﬁmﬁ'@[ﬂwwm%%@@ﬂqﬁ,%ﬁﬁﬁﬂﬂﬁ%l
DKFM : HGJI : : LCNE: 7& 5
%P’Cg ®) AYRA (2) PRYA ::(3) PYSA (4) PXRA

9

1€
{
{ M 10 R )

50.

[=]
e

%
[y
(6) ]

\)Jr)’/ Cup : Crockery : Frying-pan (2

Three of the following four groups of number-letters are alike in a certain way and thus form a
group. Which is the one that does not belong to the group ?

frafafad =R de- a&rza@ﬁéaﬁ@“ﬁﬁaﬁaﬂﬁmwﬁﬁﬂmmwwmm
ﬁmﬁf@an@ﬁq-m@wwﬁwﬁmw 872

we) 1162 @

o "]|

U13H T7M

Some words are given which are related in a certain way. Establish the similar reIaﬁonshlp among
the words given in the alternatives and choose the correct option :

Table : Furniture : Chair

Curtai.n : Garment : Shirt

(3) Man : Mammal : Whale (4) Stahonery Pen : Pencil

ﬁ%ﬁqm@wﬁﬁmﬁﬁw%lﬁqmﬁmﬁgmwﬁmwﬁﬁmmm

s ; AT : Tl !
(1) T G ¢ FE- (2)*. U : TIRAE () : HHIS
3) ﬁm:wﬁ:%ﬂ (4) é@?—m:w i

=]
ST1/K
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52.

53.
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‘A+B’ means ‘A is the brother of B’

‘A X B’ means ‘A is the mother of B’ 54
‘A—B’" mcans ‘A is the wife of B’ -
“A~+B’ means ‘A is the father of B, &)
If P+QXR+S—T; then how is ‘Q’ related tO %T' ?
() Mother-indaw (2) Sister  (3) = Sister-in-law () Grandmothe
{2 ) y

‘A+B 1 37 §A’, ‘B T 9 B
‘AXB @ Y TA’, ‘B’ T AT T
‘A—B = 39 ¥ /A, ‘B Y 9R 2
‘A+B & 3 §A’, ‘B H far £
AT P+QXR+S—TR A ‘Q ®1 T § 1 aiwf §?

() =& @) it/ TS/ el

Select the correct mirror image of the given figure when the n'urror is placed at “AB’ line as showy,

below :
ﬁaaﬁwa‘?‘raﬁWW'AB’%@WWWﬁﬁW%W%WWWWWWW

H 'i

Iy Il

A

(4)

(1)

In thls question four number-pairs have beengwen, out of which three are alike in a certain manner
and one is different. Choose the odd number-palr out from the given alternatives.

Wmﬁanm—?ﬂﬁk’w%mﬁﬁﬁﬁ'ﬁﬁmmﬁmﬁa%’aﬂtm@ﬁmﬁ?lﬁqw
foeredi 7 | fawm Sem-gm =1 w57 i -

\1

(1) 15 : 240 (2) 14:210 4) 12:156
i\ Q) A\

W}EL A% W’&\ 47 LK
\/50 \ \" YA
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ler

t ‘33
One term in th 991/
54. On e following number series is wrong. Find out the wrong term. 4 0 1/5%5
ﬁ%ﬁﬂémmﬁwwm%umm%%mﬁl g/ll'i_/% 3
N 5

3, 12, 30, 57, 92, 138 - 3
) 92 @), 30 (4) 138

“She is the only daughter of my mother’s father’s

photograph, Raghu said,
related to Raghu'’s father ?

Pointing towards a

55.
only daughter”. How the lady in photograph
(1) Niece (2) Daughter (3) Mother . (4) Sister
Wﬁmﬁaﬂ?mm@qﬁw“aﬁﬁﬂﬁ%ﬁm IHeAt "
_ , &) ¥ A A A 7
I f T e g 3 fua & fr weR weifir 7 .
(4) =

(1) it e @) . 7

Given below are five figfn'e_s marke_d AR D a'nd E followed by four options representing three
which when fitted togethgrjyﬁﬂl form a complete square. Choose the correct

56.
of the given figures;
option. e
i ST A, B, C, D 3ii E % T IR fashea-fRu e &, ford 6 srent a1eh sl = s 4 g

i o ST & 1 W foee 1w wi)

e N B

© ©

(1) ~ABD = (2) BCD (3) BDE (4) ABE

57. If in a certain code language “sti pri nro’ meanfs’ ‘I Tove coffee’, ‘pri min zei’, means ‘Coffee is hot’
and ‘min sti bse” means ‘Love hot weather’ then which code stands for ‘Love weather’ ? :

IS T e 9T H ‘st prinro’ 319 €I love cclf_t_'_eTe’.,; ‘pri min zei’ a19f §“Coffee is hot’ 3R ‘min sti
bse’ T 379 & ‘Love hot weathey’, @ “Love weather’ <1 e 1 B ? _
(1) minst (2 sfibse (3 stipri (4) minbse
(OO E ! '
o ) b & 17 $4 pi N
| e skl A ,
' @Jéﬁf@ )ﬂ/r'n '-“C&/Cﬁfzpﬂ )
(o te ot sn M by W e

ST1/K
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Q.No. 58 and 59 are based on the following table. Study the ta.ble and answer the given
Number of students admitted in 5 different schools during 5 given years :

A

GET IT ON

Google Play

m#@r5safr159=ﬂ%aﬁﬁmmmm%laﬁqﬁfﬂwﬁaﬂmﬁ?ﬁﬂwm%mw
ferenfeldi =1 e Sit fif 5 fafirs femrert & 5 auf § Rt € :

Year./ a6
i 2020 2021 2022 2023 2024
A 180 164 1175 186 225
B 212 154 (227 164 180
C 168 172 211 169 175
D 144 158 120 198 210
E 198 136 196 205 185

58.

2) 156

(3)___:__ 168

(4),

The average number of students admitted in schools B, C, D and E in 2021 is :
WB,C,DaﬂIEﬁaﬁzozlﬁ st fopT T ferentefali =t sl W w2
) 155

162

boys,

59. If 40% of the total number of students admitted-in schools A, B and C together in 2024 are

60.

=y
==

then the total number of girls admitted in schools A, B and C together in 2024 is :
af Toeneri A, B 3R C# ad 2004 & oot siweht b T Ferenfefat % 40% e & < foreyerdt A, B
a4 2024 H et Wit fem T vl & el it wem fee €2 ©
1) 232 384 (3)7 348 @ 228
Study the following pie chart carefully and answer the question that follows :

e ST T IE-=E o erTde stere Y Sl e T T g e E
Bills/fert

Medicines/

TaTsar

;ﬂgécff

%: cy

Miscellaneous/

Transport/
| = W
Food/ ¢ b
Education/ [CIEIN
5 N (55
Vo o
Savings/9=d T \/

If the above pie chart shows the monthly expenditure of a family with monthly income ¥ 50,000,

then find the ratio of the amount of ‘Savings’ to the amount spent on ‘Food’ :

e IR fear T ar-= ot wRam o0 wifges s gt &, et wfee e 250,000 % @ ‘a=d F
' Sl a1 e # T R S S AR

(1) 3:5 2:5 (3 1:5 (4) 5:2
3y og Y g ST1/K
I 2y ¥ lo ¢
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64.
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PART - [ll / 31797 - Il
Arithmetical & Numerical Ability, Data Interpretation /

3ﬁmﬁ1ﬁaaenmaﬂasamm e Brmaor

PQ is a chord in the minor segment of a circle and R 1s a point on the minor arc PQ. The tangents
the points P and Q meet at the point T, If APRQ 102 then the measure of ZPTQ s :

m%#mmﬁmwvﬁm%@ﬂaﬁmp i

QR TH Rﬁam%lpai’rtQW@ﬁT“é \8%,
%@mﬁngﬁaﬁ%mﬁﬁquor%?h.zPrQﬁmq%ﬁg /}
(1) 24° (2).- 26° (3) 340 (@) 22° &

measure of CD ? BC dcmand D is a point on AC such that DB BC. What is the

f33S ABCH, AB=AC=12 cm, BC=5 cm aiit fit e Feerd £l
» » BC=5 cm 31K feig D, fis DB=BC®¥1CD
T ACW 3 H S
25 1
2 7

: 12
i =
8 men and 3 women can do a piece of work in 7 days, ‘whereas 5 men and 1 woman can do it in

(.
12 days How many men should assist 8 women so that the same work is completed in 4g days ?

pme

i

8@%3%%@@@7&313@?{%% mwmﬁswaﬂt@qﬁwuﬁﬂ
ﬁwmwﬂlsmm%muﬁﬁ%wﬁammﬁ iR 52w de ﬁmﬁwé’rm7

(1) 10 () 12 3) 15% prt—try 9

The time taken by a boat to go 18 km downstream is equal to the time taken by it to go 10.8 km
upstream. The speed of the boat in still water is 8 km/h. How much time (in hours) will the boat
take to go 45 km upstream?

fmﬂmagm%mﬂwaqwmkmsﬁaﬁaamnmwmmmsmﬁe@am%ﬁqﬂaﬁﬁ
H T A % 90 § | ¥d 5 H, maﬁwsmuﬁrw%mm%ﬁﬁqﬁmsmaﬁ@mmﬁﬁmﬁ
1 e 5w (S ) wrm 2 L

(1) 7.5 2) 85" @) f9Js 4) 6

[=]
o
=%

-5 ger ~ =

SPACE FOR ROUGH WORK /% <t & fiq wig E

n b

e £

M4 =]

5 MILF ,

19 ' ST1/K
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65. The cost of ishing
1e cost of polishing the (oq] surface area of a solid cone at ¥ 0.50 per cm? is ¥ 5632, and the

circumfere i : p
nce of its base is 176 ¢m. What is the height of the dotie ?[Usew=2_2.]

ferelt S iy 3 § 7
AED EW‘-;F%%lﬁ'vm?aaﬁ?osoqf%rcmzzﬁmgmmmﬁmmﬁ%z%ﬁﬂm

STYR Y gfify 176C1ﬂ%l¥f§ﬁ°ﬂ§w%? ('rr— ——Eﬁfmﬁ%ﬁﬁ]

| .(1) 64 cm (2) 80 cm (3)

96 cm LEL‘_:’ (4) 60 cm
If mean of the following distribution j b, 2

1s 211, then what is the vélite of (4p—3q) ?
w&ﬁwmmmwzll%?ﬁmp ~3q) T AF FT ¥ ? Bii i

[ Class/i 100-150 | 150-200
| E‘requency/aﬁeﬂm 4 p
(1) 13 2) 14

66.

200-250 | 250-300 | 300-350 Total/<m

12 q 2 25
3 15 4 12

67. In an election between two candidates, 15% of the voters in the voters list did not cast their votes -

and 10% of the votes polled were declared invalid. The winning candidate got 60% of the tota]
valid votes amd won by a ma}orll:y of 7650 votes. The number of vahd votes was :

&Y | Y Hal o) 9@ o

(1) 38250 (2) 42500 (3) 50000 (4) 34000

68. A cubical tank with side 50 cm is full of water. If 61 litres of water is taken out of it, the level of

water in the tank will drop by :
& AR S, TEeRt 957 50 cm §, YT | oA ﬂﬁgﬁ%mﬁwﬁ@rmmwmﬁmm
T, ﬁ@ﬁmﬁwwmﬁﬂw? .
1) 25 cm (2) 25.6 cm (3) 30cm s (4) 24.4,.(:@ -
69. One of the factors of 6x2— 24xy+17x+24 y2—34y+5 is : _ )

622 — 24xy+17x+24y2 34J+5%szgw@rﬁ©qaguﬁw% o

A 2w-4y-5 (@ Sxréy-1 @) 3¥- 6y+1610) s
SPACE FOR ROUGH WORK /wm%ﬁmm
B
b -
ohic| n
b 20 sT1/k
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If the HCF of the expressions (x+3) (212—3x+a) and (x—2) (3x2+10x —b) is 22 +x—6, then what

is the vah}e of (2a—3b) ?
g Eﬂﬁﬁ?"l (x+3) (2¢2—3x+a) WU (x-2) (3x2410x — b) T HCF (W.4.) x24+x—6 3+ @ (2a-3b) &l
A w2 ;
(1 3 2 5 i f__irl o
=

A sum amounts to ¥ 9075 in 1.1 pavy .
1 1 3 yeams atlan P;Ef__l_}'lterest compounded g-monthly. What 15 the
- simple interest (i LI}
simp T (in ) on the same sum for the same period and at the same rate of interest 7
~ .

L/ 1 : £ == .
ferdt ST T 15% o <X | lgaﬁﬁﬁam?gozsgm%,mmmg_qﬁmaﬁﬁﬂ

Egﬁlgmwmaﬁmawﬁm%@mgﬁ)m; 7
- (2) 1500 (3) = 1550 (4) 1200 @ G
Study the following histogfe;m and answer the i i J
: : _ question : Y 09
ot Smmaratert it ufew qem o & s S : i fﬁ;‘% S qr?of‘b
T 804 - Lo /‘}\Zg
) 70-_ - {
:%“ 804 i _¢7 ;//I? . E*——: (o)
fEal ez - By
..g:EBU'_ W G\
EEnl B2 N2
kvl o %
¢l Bz e } ¢
SEBEEERE =5
Life time (in hours)/SfTa et (51 H),

(Note : The number of lamps is a multiple of 5)
(A2 : S0 T FEA 5 H T IO ©)

The difference between the total number of neon
Jess than 700 hours and the total number of neon

The value of t lies between : ;
(1) 20 and 30 (2) 30 and 40 (3) 40 and 50 (4 10and 20

uﬁ400a%mwﬁ_aa‘r‘q$qi§700aﬁﬁwsﬁaqmﬂm€fﬁaﬁﬁvﬁﬁwm@ﬂgooq%mm

i e AT e Pt el 7 g e oA 8, W e e A A
(1) 20 30 ‘(2) 30 &40 (3)7~40 31K 50 (410 3R 20

lamps whose life time is 400 hours or more but
Jamps whose life time is 900 hours or more is t.

 SPACE FOR ROUGH WORK/ % T & fau s

1
I
i

e 108
s 5;(

. it ,5 , '
%ﬂ L 57 21 ~ ST1/K
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73.

74.

75,

76.

The following is the distribution of ages (in years) of children in a group :
@Wﬁaﬁaﬁ}aﬂg(aﬁﬁ)mmﬁm%: 7
Age (in years)/ g (= ) 10 7 f =4 6 3 8
No. of Children/s=ii € gwar | 11 3 6 4 9 5
What is the median age (in years) of children 7 -

= T HEE g (99 H) a2 -
1 5 2) 5.5 (3)..6.5 @) 4

Let p be the greatest number of 4-digits which when divided by 21, 22, 24 and 28, the remainder i,
each case is 8. What is the sum of fhe digits of p.?

Wﬁuﬁﬁwﬁwa@}mp%ﬁ1%11#21,22,,2'4?24128@ﬂméﬁmmwﬁmfimﬁm
€1 p ¥ R 1 A o

1) 19 2) 20 (3) 23 4 17

The cost of 2 pens and 5 pencils is ¥ 57. If the cost of a pen is increased by ¥ 1.50 and that of a pencil

is decreased by ¥ 1, then the cost of 5 pens and 3 pencils is ¥ 109. What is the original cost of 3 pens
and 4 pencils ?

2% afrt51‘Tfaa‘famarvq?57%13&'@%aw,\wffnsoaﬁq@é\?ﬁ%a?‘nwm%q@ﬁ
311 FHH e €, q 599 aﬂwﬁfa?ﬁaﬂ@%mmw%laﬁmfnﬁm‘mmww%?
1) %65 2) 70 (3) % 71.50 (4) T 55.60

Read the following graph and answer the question :

= TG <Y TFGT 3T WoT T Feie e «

Number of computers sold by dealers A, B, C and D in the years 2022 and 2023.

SIeRi A, B, C I D g7 &t 2022 3T 2023 H S T FART H G

T 2022 : "
700 - >N

£ oo 12023 sgg . 550
2B 504 a0 = [ 40 :
EF 40 09| 380 A
S qg 350 320
. 300 .

3] 200 - -

E B 100 -

5 \ A | & |
' Z 19 i A B . C D

Kk Dealers/@‘iafi —_

The average number of computers sold by dealers B and D in 2023 is what percent more than the
average number of computers sold by dealers A; C and D in 2022 ? '

il B R D g 2023 H 99 T FuR Ft sivgq e, SRt A, C SR D g 2022 % 99 T HgE
1 3a Gen § e Afaew 72 &S

1) 4% 5.5% (;aj)'_'._!\m% @) 2.5%
SPACE FOR ROUGH WORK / T% &4 fer g =
Gl YW’?gg &IP
by 2V A e Yk
pAC T Tew Fiig 40
% S<0
S sT1/K
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7 iieéchart I shows the distribution of students who appeared in Board examination from schools
£ S fi:]' D and E and pie-chart IT shows the distribution of students who passed the examination
rom these schools. Read both these pie-charts and answer the question : (s‘éo

ﬁ;‘?‘élﬁ_v{ A, B, Q'Damﬁﬁzhénﬁmﬁﬁ%ﬁmrﬁ ¥ <z e & i o= 1 e el 4 '5\{; 4
Eﬁﬁaﬁ!ﬂ%mﬂm%lﬁﬁﬂﬁ—iﬁaﬁw@ﬁnwmmﬂm: €\
by
A

: . 11 Q\W

ppret U

5 \225) 418

okl 5 18% Ld (A

}09 i 24% - : @ \[j v
;/3,

V\q o

. : T \n

otal nu!:nber of Students appeared =1800 | Total number of Students passed = 1500 _9:?/‘0"?/57*6'
dte & &% 7 frenfi Ay Ao =1800 | et gy R g e =1500 | 7 24

The total number of students who failed from schools B and D is what percent of the total number —9‘6
r

of students who passed from schools A and C? ., (0 —T8
THe B 3R D ¥ ol g forenfefdi 1 o dem e A ol C il gu faenfudl # Fa wen Q
o s ¢!
M 12% );/13%;% BNORS T @ 103% L/ f’ﬁ
11

3. What is the remainder when the polynomial x1®—2x%! +1 is divided by (x2-1) ? /LQZ. 5. 3460
g A0 — 2951 +1 T (32— 1) | T & T qHe A W2 ﬁ('
1) x-2 @) 2(1+x) 3) 2(1-2) @) x+2 102+

9. In a class, the number of boys is 40% more than that of girls. Inan examination, the average marks
obtained by boys is 20% less than the average marks obtained by girls. If the average marks
obtained by all the boys and girls is 53, then what is the average marks obtained by the boys ?

Fert e T, TSl 1 e weihdl @ we | 40% A ¥ Tk T §, el gR W 3id 3
wrefere g T Sl S 20% o 1 A W T v w5 W S o 53 %, W

2T T aivEd i ;e ?
(1) 48 2) 52 (3).. 56

B SPACE FOR ROUGH WORK / T &t & et <1TTe

(4) 44

(5418)~(45+81)

( Y5 1)
L=y ﬂg/(/gg‘%

.-f""--—-

—T% A%
23 ST1/K

L5,

3
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der is 1792 7 cm? and its base radjy,

80. The curved surface area of a solid metallic right circular cylin f equal radius. What s 6 s fo

is 32 cm. It is melted and recast into 42 solid spherical balls 0
area (in cm?) of a ball ?

mﬁﬁv‘waﬁwaﬁqﬁaﬁmmamqrah,%1792mm2%éfﬁwﬁ:wunﬁﬁmsz?§%ég§
ﬁaamnwﬁmamﬁuaﬁvﬁ%ﬁﬁvﬁéﬁhﬁmw%l@ﬁﬁmwm(cm ).

(1) 128w (2 1927 @) 24w (4 256

f- v

81. Let A and B be two sets sﬁch that n(A — B)=20+x, n(B— A) =3x and n(AnB)=x+1. I n(A)=n(B),
then the value of (2x—-5) is : oo § B

1 A $IRB ¥ 79 SR § 5 n(A—B)=20+x, n(B—A)=3x 3R n(ArB)=x+1 1 7}
n(A)=n(B) &, dl (2x—5) F AT & ; .

1) 11 (2 13 ¢1 (8) 1B | @ 9

82. The cost price of article A is T 500 more than the cost price of article B. Article A is sold at a loss of

10% and B is sold at a profit of 20%. If there is a profit of ¥ 200 in the entire transaction, then the
cost price of article A is : L

I A F1 59 ToA qegB%mqg@ﬁﬁﬂO%%lWAﬁlo%mﬁrWHm B =T 20% @8 W =
STl €1 9 R R A T 200 1 T I G ¥, A T A 1 569 724 & -

(1) %3000 () ¥3500  (3) %3600 @) % 2500

83. Given that x=4\/1—2+5«/f——3\f7_5+\{30[] and y= (2+J3_),(2—--/§). §=a+b~f§, then
what is the value of (a+2b) ? ' :

R = 4/T2 + 57~ 375 +B00 o y= (2+45)[(2B) #1 s S=a+b43 4w
a+b)FTAAFME? . | ‘
1) 30 @ 36 (3) 40 @ 24

s SPACE FOR ROUGH WORK / 7% T4 & feTq stwig

G 24 ST1/K
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84. A cirq of th
h area
h-langljﬁ‘ls :;nsclclﬁgetrii‘n:n a triangle with sides 28 cm, 45 cm and 53 cm. Wit 8 €0
area of the circle ? (Use w=3.14) el
ST 28 Faygst A1
m:45cmaﬂ'{53cma17;?r Tl ﬂmwg
2 (=314 )Wﬁaﬁﬁa‘aﬁﬂﬂ@ﬁﬂ 9d
(@) ° OB e 5 S it 1o sy oy s, g 3 2
cm’ (2) 316 cm2 3) i 220 cm? (4) 300 cmy " ;4
85. : o 9’.-11 Z 1
The sum of Squares of all the roots of the equaﬁt;n% 2 '“L'f"!;a’ ' 9N~ )—,,._’" L
2 =——:—_.=,=_é' 0- ‘ — .{L 'J/
(x ’ l} ~g=5 - = WiV S uf
x 5 (¥~ %) x#0is: ’ ’lngg$ us_ ut
J - 2" 1y %
1 3 i . o
“‘ﬂm("*ﬂ“‘*a[x-%}m%wwmm"%- fo
; . "en
4) 4 f y

; 1
)JD/G @ 67

The ratio of the incomes of A and B is 3:5and th'_e?‘: iio of their expenditures

is2: 3. If the income

86.
of A is equal to é of the expenditure of B, then tl'f__er}-aho of the savings of A and B is
—_—--‘ 2
AﬁBﬁWﬁms:s%aﬂtmmﬁmﬁz 331 AFI FABH A F o ¥ RS,
T A 3R B &1 g=dl § 3779 & : Tt
1 2:5 (2) 3:8 3) 4:9 (4 1:2
87. The parallel sides of a trapezium are 48 cm and 20 cm. Its non—paral]el sides are 26 cm and 30 cm
What is the area (in cm?) of the trapezium ?
ferelt Tocia Y it el i wergal 48cm?rsn20cm%‘lwaﬁ ST gmai‘rﬁaﬁlsm 26 cm 31
30 cm € | GHE FT A (cm2H) FTE? S | _ A ab
(1) 748 @ 816 - @)=8 @ 680 0 oy (o)
SPACE FOR ROUGH WORK /3% & & fig sig (0
ot 568,
,ﬂ,‘!, ',2.0 iz h}‘f“(t!aF
—
oKD
md N ST1/K
ne!
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88. Water flows out through a pipe, whose internal radius is 3 cm, at the rate of x cm per 'I
a cylindrical tank, the radius of whose base is 60 cm. If the | . Per seconq ; |

Y al tank, adius of whose base is 60 cm. 1e level of water in the tank rises Iy |

in 5 minutes, then the value of x is : § b Sby 15 N

W T SR B 3 e £ aamxcé;ﬁéma:ana@aawm

a1 60 cm &, % urt RIS 13 5 e 3, ﬁ.;%rwiaﬁﬁlscm*msaméwmamﬁ
M 16 @ 20 " |

). 2 BRCISE

89. Ifrand yare upper Iin'u:tof median class and Ioi&vé?ijnﬁt f . .
disETution, then what is the valne of o o modallclass, respectively in the following

L Marks Below 10 | Below 20 | Below 30 | Below 40

Below 50 Below_&}-
LNO. of students 3 22 35

47 55 80

AR H§? = ety

AR 7 e 4§, x sl y ww: mwa;aﬁﬁﬁ;xﬁmama@aﬁﬁﬁnmﬁa’r

3 Wdww | 203w | 30850 | 9037w | 50a%m | 603am
el ) g 3 22 (35 | gy 55 80

(1) 130 @ 10 @2 1s0 @ 120

T
90. If the mode of the following distribution is 6-6- , then what is the value of k ?

3t fr1 de =1 ager 6% € W1 k 1 AT 2

Class/aﬁ 1-3.| 3-5 | 5277| 7-9.| 9-11 [11-13
Frequency /<&t 12 45 8Q_: caki ] 98 16
‘ay 5277 2) 55 B) 60 " (4). 50

SPACE FOR ROUGH WORK / T &rd o fefg g

) | N
B4R 26 . sTI/K
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PART-IV/aioT-IV
General Hindi / STaTe &eal

1 T T

4 2 R J/)/ e (4) ”“ﬂq

wﬁﬁmwaﬁiﬁmmﬁﬁl
R S wIF {3 g Tea @ A1
W = (3 f @ %

93. Tl wift &Y' 3 T Y e Y T TR T ¥ -
(1) SmwEm _(py’ o g e
ek @) e

92,

94. 'ﬁ’%mﬁw%_
R X @) s @ @ @) T
VG 0 emy Te @ome @ OO

95. ‘HiciohAd’ VT I WE witeE fomg R -
\_}(l)/'ﬁcia:ﬁ“(qﬂ-m (2) :ﬁ‘ﬁ‘ﬁ'q;q'a

(3) i % forg e WW%WW

96. ‘Herqa’ o Hit-fo=g - |
(1) WEH + 9 M+m (3) TE + Stud (4) TR + ™

97, ‘e IR AT -

\_}}Vﬂw+:ﬂm (2) ﬁ'e'»ﬁ+3m- _:--(3) Y 1T

98. ‘S NI Tl ﬂ;uﬁﬁmaﬁﬁma‘t?ﬁﬁm%-

kﬂ/mﬁ;mgﬁﬁlﬁr#m ()._\__mm%aamtﬁr
(3) T 3R TF TRE e €| (4)--=g$ﬁraiﬁ§n=ﬁqm

E%E ' 27 - ST1/
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99, feet avfmen & =or & -

M T @ = @ @) e v @

LAO0mO @ @m0 @reme @ e
100. ﬁmﬁﬁaaamaﬁfﬂrw%mwm;

“Waﬁwﬁﬂ’fﬁwﬁﬁa—mwm%w—-.

(1) I R S o e st wid
_@’Wﬂﬁﬂmﬁwﬁﬁa—mwmm,

(3) Wﬁﬁﬁﬁﬁ@ﬁm-mmmml

(4) Waﬁwﬁ@mﬂ—mmm|

101. ﬁwﬁ@aﬁﬁaﬁq—mwmﬁﬁ%?
(1) uRa ¥ fafaemr & wea ¥
\@/ A FFIA-T % 377 Fopay (4) w%@mﬂwa’eﬁm
102. HMH-T1 ¥ g Q A 2 -

3485

B, NCA @) et @ v
103. mﬁ@ﬁmmam-@gﬁammwm ' .
W g’
(&) i fom ®
| (@) faorEmEs G =
B (M e fam (i) 1
() S e w) | N

,\,Ll')/ ()~ (i), (&)~(iv), ()~(), ()~ (i) ___
(2) () (i), (@) -(iv), (D-(H), (NH-()
@) (F)-(iv), (@)-=(i), (-(i), (1))
@) (F)-(iv), (@)~(i), (1)-(i), ()~ (i) u

104. m—ﬁmﬁgﬁﬁaﬁq—mmeﬁaqﬁ#

1) TE-W (2) fF - & \ﬁ)/wf TS (4) W - AR
105. Frafafer 4 @ FR-TT v ‘s&' T A Tef I €2
(1) wEfm (o) feffw @) elr

g%g 28 T 3(; % ST1/K
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PART - V / 7197 - V
General English/?n'ﬂrcﬂ 3idreil

ectly changes the

|
given sentence

In the followin
8 quest
from Active Volcgt ons (106 and 107), ('hont;L the option that corr
0 Passive Voice or vice- verda! P

106. He was taken to e hospital in a crmcgl c(_)ndition by his friends.
"’((;,))/ ilsﬂi:Tds took lTlm to the hospitial-_'il_n a critical condition.

Ospital, his friends took him in a critical condition.

(3) His friends, in a critical conditior;:‘i'é:ak him to the hospital.

(4) Ina critical condition, his friends were taking him to the hc:spltal

107. We should listen to his sagacious words all the time.
(1)  All the time, his sagacious words should be listened to.
‘____,_._--—'

‘,Q’)/HJS sagacious words should be hstened to all the time.
(3) His sagacious words all the time should be listened to.

_"__..._--—-

(4) His sagacious words should be hste_ged.
om a

: ; tence fr
108. In the following question, choose the ophon that correctly changes the giVer R
Simple to a Compound one : one
He must work very hard to complete thie-task.
To complete the task he must work very hard.

In order for the task to be completed, he must work very hard

(3) As he wants to complete the task, he must work very hard

\/(,4')’ He must work very hard and complete the task.

/

109. In the following question, choose the coﬂ__ t option to fill in the blank :

No sooner had he returned

y but (2) than

110. In the following question, choose the optmn th

was off again.
(3) and (4) that

at gives the meaning of the underlined word :

29

‘a flippant remark’
non-serious Mrucal (3) indifferent (4) ' serious
oro ;
S . - ST1/K
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111. In the following question, choose the option that provndes the correct form of the verb useq ,

for none.
(4) wait

(3) :’“-:'will not wait

Time and tide
(I ~ walils (2) will wait ‘
ctuation mark to be used at the eng of 4
|

choose the correct punctu

112. In the following question,
sentence : w1
What a terrible forest fire D —

(2)  Ful stop

MMark of exclamation
(3)  Semi-colon (4) Mark of interrogation

113.
irnot;lzie given question, Ly art of Speech of the underlingg
He is willing, Yet unable to undertake the onero_?;_s}t;xsk.

(2) Preposition (3 )

Monjunction

=]

choose the option that correétij?idenﬁfles the P

(4) Adverb

choose the option that provides the correct meaning of the underlineq

114. In the following question,

idiom :
After being chased for a long time, the thief was finally runin
(3) punished . (4) Dbeaten

(2) released

/(rl’)/ apprehended

rrectly changes the given sentence from Direct

115. In the following question, choose the option that o
to Indirect Speech : ~: -
‘Twill pay you back in your own coin,” he shouted and ran away from the scene.

away from the scene.

J;)/ He shouted that he would pay him back in hlS own coin and ran
(2)  He shouts that he will pay him back in hlS own coin and runs away from the scene
away from the scene.

() He would pay him back in his own coin, he shouted, and ran
~
(4) He ran away from the scene and I>t129n shouted that he would pay him back in his own coin
ST1/K

e
O 30
AR TR I MMM“N‘?MNH
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Read the passage giver ‘
11.1 (.JI'L‘ICT to Shiw u:eb;ll?‘:ozarcl;ully and answer the questions it first s ay § describe o
lhf: religious ideas which prc%ailsci“bv?“?’: Tadc A thcs%c lv religiod y ere
?c:;igu‘;lil(:fcif?r ﬂn.d CBPE?BTd love. Pcri?fl\ieti:«'::c%:ﬁgfzc‘:;-ml i Y‘ If at the Tnercy ° nd eal‘thqua and,
ﬂood‘s. o C(:Elg‘ﬂ ;;(Tﬁfﬁi?ﬁfs_ﬁrﬁd and could not control; thun er angizghtﬂmﬁ them‘hapg n s
according to his ideas imagine these things happening without somet
behind these thun d‘-r 5‘_’1“0l1‘lmg meant somebody. 'Ihf:re mILlSt Fr - omebo d
i fohamme erstorms and earthquakes, and in this notion of @ :
& . }_F’?l? we have the beginning of the idea of God.
bt a“;llfgiﬁuhve man did not think of onéz god who was responsible {_00
Egypt where tﬁ" ':3f gods each of them ruling over a particular departmen
years ago thereelxia:: E.lels all‘EItidy Slct)-imle e fo ildv'ﬂismc-lion’
. cat multiplicity of these gods, &
ﬁi;ﬁ:ﬁsgf a god even Ofggearning. 1'JI'hetgods loiredgand hated and struggled an
eings, and practically everythin that happened in
And people had to bE very car):aful tzykeepgthem in %god temper, for the gods Wer® 1;:11:&13 idea
sulk, with terrible results for human beings; All through the early history of man is life.
only by praying to the gods and flattering them that man can surviVF.: the many P¢

116. State which of the following statements is Not True ?
Primitive people believed in the multiplicity of gods

(2) Primitive people had no religious ideas .
(3) Primitive people believed that gods will save them from calamities
l_fﬁatu.ral phenomena

(4) Primitive people could not contro like earthqua

kes and floods

117. By ‘cupboard love’ is Meant ...

(1) selfless love :
love that seeks something in return_

(3) love alternating with hate ;
(4) passionate love o

5
=
=

=

T

118. By ‘multiplicity of gods’, the writer vy Lo W
(1) many gods acting together

2y~ many gods going their separate ways
_(3) many gods working against the interests of human beings

(4) many gods presiding over their respective spheres of activity

119. ‘To keep someone in good temper’ MEANS wweeseeeer 3

(1) to make someone angry
(2) to Jaugh at someone

8y~ to please someone
(4) to be indifferent to someone

120. The primitive people’s idea of god waé-;ﬁimarily born out Of s
(1) selfless love (2) unflinching faith ‘

t\}%)/ Jove and hate relationship (4) fear and greed '

ohio
e 31 ST1/
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PART - VI / H19T - VI

Computer Proficiency / aﬂmg\azﬁ:rm

121. Which of the following is not a file extension of an image file ?
ﬁwﬁf@aﬁﬁaﬁqmjﬁ?sawwﬁmqﬁg?_,
(1) Jpg 2J  tiff (3)_“.__.: P“g i

122. Inthe MS Windows operating system, which opera hon can be perf
key combination Ctrl+Z ? performed using the popular Shortg,

MS Windows 3TqtfeT fareq ¥ @mﬁumﬁaﬁﬁwmcm VA
ST el & ? ! +Z 1 39 T T aqm‘mq iy
}{ Undo (2) ZoomIn @5 i, i 4) le

123. Tf) create, modify, and d1$p1ay a presentation on cyber crime, prevennon and laws, involyiy,
different colored text, images, animations, videos with sound, which software would you

recommend the most ?

HIEER ST, Aeher iR wH W T T &, Wmmﬁmmw#mmﬁﬁfww
911 SR, o, T, wﬁ%m&raﬁa‘rwﬁaa amuaﬁaaf ﬂammaﬁmﬁ?

(1) MS Edge (2) MS Teams
(3) MS Access M___S.__El?cgwerPomt

124. Which of the following is not a popular programmmg language used to develop computer
software ? =

mﬁﬁ#mwmmﬁw&mwmwwmmwm
§7? :—: |
(1) Java ‘/()/ Viper (3)- “Python @4 C

125. Which of the following software would you most likely suggest to design and print a multi-page
question paper for annual examinations, using different fonts, sizes, diagrams, and tables ?

ﬁmﬁmn@mmmmmﬁmuﬂmtﬁEWWWﬁwmmmwﬁm
g 3Afes gaA, ﬁaﬁﬁfmmmaﬁ‘@ﬁkaﬁmwﬁaﬁr?
(1) MS Edge _(2)” MS Excel | (3)? “MS Access (4) MS Word

126. Identify the most popular full form of OCR in a computer system :

HR o | OCR 1 T Wi 0 &9 Te =
R Operatlonal Control Register

(1) Online Code Recorder
4y Opt;ca_] Code Reader

(3) Optical Character Recognition

%‘%{E 3 - ST1/K
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127,

128,

129.

130.

131.

132.

133.

(1) Printer _/(2)" Plotter

BigBasket' 7

Which o .
ﬁq m .rgal'llzahﬁn owns ll‘le Pnpu]ar Olﬂirle c_cornmerce p]atforl‘l‘l
1) M ENLE -y G At ‘BigBasket’ 1 T w7 Alibaba
‘crosoft (2) Tata i i 4)
Group Mcl:ancc Jio

0 ch of the following is considered the brain of a computer system el ]
: Memory (2) .. Input Devices

()  Output Devices (4) “ CPU
ﬁqﬁlﬁgﬁﬁﬁaﬁqmwmqﬁzmm (brain) FF ST € 2

(1) T (Memory) (2)" ¥ feared (Input Devices)

(3_) - SRR feuRH (Qutput Devices) ( ‘9/ Cru ding
able the sen

th'-‘Ch of the following protocols is best known for defining a set of rules that ena

and receiving of emails over the Internet 7~ PG| s
: gfenfad

Prerfetian 3 a1 e gacie i S e e e 3 fr e 1 92

T g sifere s W €2

(1) SMTP 2) FTP pr Tce/P (4) HTTP

Which of the following is the conventional full form of FTP in computer ne

frreifafaa § Q S Yok & Fvartcéﬁa?q;ufww%?

tworks ?

_B~ File Transfer Protocol ( ) * File Transport Program

(8) Fast Temporary Protocol (4] Forget The Password

L—%ﬁ
Which of the following is not an exampie___"qf"-_a popular web browser ?

Frfafed 4 | %7 T T delid 3 SR SUel T § 2
(1) Microsoft Edge 7~ Acrobat Reader
(3) Mozilla Firefox (4) Google Chrome

[
o

Which of the following is not an example of a popular Data'base.Mariagement System (DBMS)

software ?
ﬁmﬁ@ﬁﬁﬁmwﬁ%m@wmwﬁ(mmammmﬁ%?

(1) Python (2) Oracle _ MS Access - (4) MySQL

||.. ot |I|1'-

Which of the following is not an example of an output device in a computer system ?
Speaker (4) Scanner

frefafaa 3 9 SH-91 Soge faed | wgzﬁwaamsmﬂﬁr%?
(1) T4 (Printer) (2) T (Plotter) (3) THHT (Speaker) (4) THT (Scanner)

EpE .
& 33 ST1/¥

El
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: P
oosing a strong Past ..
0

I - ]
(1) Enable two-factor authentication (2FA)

134. Which of the following would you never suggest to someone while ch
for an email account ?

(2) Use a unique password for each account -
(3) Make it short, simple using common words and phrases

(4) Use a combination of valid characters -

(1)  SI-<RO FHOIHRT (2FA) e H

) mm%mwmwmﬁ
(8 ¥ Wi, et mwmmmmm
(4) = 9 7 G IR

135. Which of the following is a popular example?—ofgé Virtual Assistant ?

(1) Vikram (2) Siri (3) Bhaskar

Frefofag g (4) Param
¥ A B W O T s (v,ﬂ_ual Assistant) 71 e S 7

(1) fo| (Vikram) (2/ M i) 3

) "I (Bhaskar) (4) TH (Param)

136. Which of the following is the popular and prf;n'.;ry use of "Dropbox’ in a computer system ?
(1) Anti-virus (2) Cloud storage
(3) Operating system = (4) Browser | N
ﬁwﬁf@aﬁﬁaﬁﬂm@mmﬁ‘Dropbox'mua@aﬂtmmW%?
(1) UH-a”RE (Anti-virus) 2y FAE RS (Cloud storage)
(3) @Gifén faen (Operating system) (4)# ELCE R (Browsier).

137. Which of the following is an example of an l.l'lpl.}t device in a computer system ?

(3) Speaker | (4) Camera | |
freferfad 3 & FF 91 b et s & S92 FSaTed (input device) 1 SaTeTT 2
(1) T (Monitor) | /aa/ X (Plotter)
(3) e (Speaker) (4) %"RT (Camera)

[%EE] 34 ST1/K
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138. Which of the following is

_/(W‘ Firefﬁ T e v e 62
i (2)  WhatsApp _ (3) You Tube (4) Facebook

139. Several bran (i
to share impf,};f:notff.al school from different parts of the country ha
lles and other resources. Which type of networ

a-wa; . :
ﬁfmm‘}mﬁﬁfﬂﬁﬁj@aﬁ%@ﬂﬁ@mﬁ(meﬂﬁ

hare) F¢Y :
Sma%? %mwmmmawﬁaﬁwwmﬂm

(1) MAN e AI\‘I/ _w, R @) PAN

140 ch of the following is a type of volatile memory in a computer system :
(1) RAM |
(2) Hard Disk

an e
Xample of open-source software ?

mputer I‘letwork
formed
— S CEICIE

ve formed a €O
k is most likely

(3)" External Stolrége Device

(4) ROM :

fr=fafad 3 @ =6 W F7= foen =t ugﬁm 1 SreTerEd A (volatile memory) €?
()~ RAM . — |

) @< fewF (Hard Disk)

(3) @l €S fea=y (External Storage‘=D_eEvice)

4) ROM

141. Which of the following is a collaboration and communication platform developed by Microsoft,

primarily aimed at facilitating teamwork in organizations ? _

ﬁnﬁ@aﬁﬁa@hm@mamm@gﬁﬁ%mmcmsofﬁﬁmm%ﬁhwwﬁt

H1 P W g A F U 5

(1) Microsoft Teams

Microsoft Access

(3) Microsoft Defender - Microsoft Edge

142. Which of the following is the popular shog_ ut for the ‘Paste’ operation in MS Windows ?
P & MS Windows H ‘%2 (Paste). Sirdeert ¥ forg wierfir wiiéehe 1 W &2
A cul+v . (2) Cul+P (3) Ctl+S 4) Cul+C

o
ofs 35 ' ST1/K
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143. Which of the following is not a conventional web based search engine ?

(1) Bing 2) Google
(3) Yahoo _/(4)/ Android
frefafaad § @ &9 91 uF TRl 39 e zqtf §5T (web based search engine) T8 @ ?
(1) a7 (Bing) (2} T (Google)
(3) g (Yahoo) @), TghE (Android)

144. Which of the following pen drives offers the highest storage capacity ?

(1) 4GBpen drive (2) 2 TB pen drive
(3) 1 KB pen drive 4) 8 MB pen drive
frafafad 7 9 Fi-9 19 g9 & a4 eifys @ ama g2
(1)~ 4GB ¥ g&a 2) 2 TB 19 g15d
(3 1KBU9 gEd (4), SMBﬁv{;ﬁ,a e pesg T

_______

o2y
145. Which of the following is a type of mahcnous software (malware) that disguises itself as legitimate
software or appears to be harmless, but- onge installed on a device, it performs malicious actions ?

I| l'

Frafafaa § @ M 91 TF JH5R H :ﬂméﬂt(ﬁaé\m)%ﬁgaﬁéumm%mnm
@m%mé’rﬁ'{%ﬁuﬁﬁﬁm%memmmﬁﬁﬁ?m%amwwimmgchmt%'?
(1) Phishing (2 Trojan ~ * 7 (3)  Adware (4) Spam

146. In the context of the Internet protocol, what does the ‘s” in “https’ stand for ?
322 WIid (protocol) % HeH H, ‘https’ § ‘s’ &l &1 afg?
(1) Secure Q/ Structure (3) Supreme (4) Super

147. Which of the following is one of the prfrrf?ify and direct characteristics of a Digital Signature ?

(1) Portability © (2), Authenticity
(3) Confidentiality {4)3  Security
frfafaa & & wF 1w fefsea ﬁqﬁﬁﬂ tﬁigltalslgnamre) = W@ SR yeer fadivar €2
Yrefafadt (Portability) _(g) THITOTERAT (Authenticity)
3) T (Confidentialityy (@) e (Security)
EIPE

it 36 ST1/K
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148.

149.

150. Which of the following is a p0p1i1a1- example ofa.n open-source operating S

Conventiona] : .
ally, a valid email ID cannot include which of the following ?
(1) Multiple dos ()

(2)  Multiple underscores ()
T (4) Multiple digits (0-9)

TR, T A 0 SR Y Pt @ o e @ @ T
ﬂ/w%aﬂmﬁm(.) /@)( @ﬂaﬁﬁmu

@) @ F e T W () (@) T s 3 09)

4o - network (Ethernet)
In a Local Area Network (LAN), a Cat 6 communication cable connecting e to the cable length-
dev.1ces is approximately 160 meters long and is éxperiencing signal _loss due'!t'the sign als petween
Which of the following devices would you recommend to amplify and retransmi -
the two devices ?

(1) Modem | (2) Repeater
(3) Firewall (4) Plotter
T Wi T e (LAN) B, T Cat 6 Feafine 3w 4 e ($R0)

Tt e T 160 WX ¥ SR o Y fed WAk F HRO gq(si@dqgs:)
Freferfir & @ o Frr P 9 R 6 ke farie 1w S T ST S D

ol B S T
@ @ T

iy HieH (Modem) : 2 ﬁcﬂa (Repeater)

(3) RS (Firewall) (4) T (Plotter)
: ystem ?

et 3 3 i T T S-SR e 1 T A SHE €2
(1) macOS (2) Ubuntu );,)/ Windows . (4 iOS

'000_"

o)
Eﬁﬁ | 37 ST1/K
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